For H9 and ¥10, ot the p raparton

5 ; . Y . 20m )
9.  The radius of a circle hes, and th¢/measure of Arcapis 73 /) Determine the measure of

S . 6
2nv 360°

the central angle that subtends Arcag. 8
tind & %WWK off o
Q20T P X’é & —@ i WL Sicle !
> &l & 3(920“ i AOIT
oy - Wiol sicte 3
2 . 0-F el o ===
% 5 _ 360° '
_X_, ____3OIT 2 = o -Qbo’ 3 - 52061
= e __‘ @0‘,' S = e ks 2
= -5

i |6
10. The radius of a circle i§ ghes, and the measure of a central angle;m £ZAOB is 80°)) Determine
e

the length of the arc it subtends.
LeS wae x instead of §

o

Ao B
2'mb 30°
X .2
28 " 5

kd{vide &

ouk YO

oot ywul'h‘(;kj each
Svde Yoy 121

i, A . = .12w
v 2 T T T§
. 24
4% 9
.
e 22
=

Find the value of x in the given triangle and simplify completely.

11- %
X

21

hse the
Pt agoresn
‘(’?\e,wf—m

at & bte g®

wEpul =29 g

x>+ 949 1= 39

[

NESEVEL

X =0

Math 36, Test 1 Pretest Answers

12.
%4{7

7
725 (4EY =X
Yqs16.2 =x7
yq+32=X

2

81=X
1

—
=

X

page 4



For each of these, I separate the trr:\qnyleJ amel
Ve ()flevvt f//ﬁem Tku 15 re Conwm euoLQa/ but not Y‘q,u;

Find the values of the other side measures of these triangles. Simplify completely
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